
1. The paper consists of four sections :-
Physics (12 Questions), Chemistry
(12 Questions), Mathematics/Biology
(12 Questions) and Mental ability/General
Knowledge  (4 Questions).

2. All questions are compulsory and carry four
marks each. One mark is deducted for wrong
answer.

PHYSICS

MOTION TALENT SEARCH EXAMINATION

DURATION: 60 MINUTES TOTAL QUESTIONS: 40   MAXIMUM MARKS : 160

SAMPLE PAPER

CLASS : 11th

3. There is only one correct answer hence mark
one choice only.

4. Darken your choice in OMR Sheet with Blue/
Black Ball Point Pen.

5. Return the OMR Sheet to the invigilator at
the end of the exam.

Comprehension/Passage (Q1 & 2): The charge
carriers passing through the surface of the conductor
can be positive, negative or both. It is conventional
to give the current in the same direction as the flow
of the positive charge. In a conductor such as copper
the current flows due to the negative charges. If the
beam of positively charged protons is considered,
the current is in the direction of motion of the protons.
1. What are the charge carriers in metals?

(A) Electrons (B) Protons
(C) Photons (D) neutrons

2. The conventional current flow is:
(A) In the same direction as that of flow of
positive charges.
(B) In the same direction as that of the flow
of negative charges.
(C) In the same direction as that of the flow
of photons.
(D) In the same direction as that of the flow
of neutrons.

3. Which of the following sign convention given
below are true?
(A) Image distance is positive for real image
(B) Focal length is positive for convex mirror
(C) Magnification is positive for inverted
image
(D) For enlarged image magnification is greater
than 1

vuqPNsn@x|ka'k  (Q1 o 2): pkyd ds ì"B ls xqtjus okys vkos'k

okgd /kukRed] _.kkRed ;k nksuksa gks ldrs gSA bldks /kukRed vkos'k

ds cgko ds :i esa leku fn'kk esa ijEijkxr /kkjk nh tkrh gSA pkyd

tSls dkWij esa /kkjk _.kkRed vkos'kksa ds dkj.k cgrh gS A ;fn /kkukRed

:i ls vkosf'kr izksVksuksa dk iqat ekuk tkrk gS rc izksVksuksa dh xfr dh

fn'kk esa /kkjk gksrh gSA

1. /kkrqvksa ds vkos'k okgd D;k gksrs gS \

(A) bysDVªkWu (B) izksVksu

(C) QksVksu (D) U;wVªkWu

2. ijEijkxr (conventional) /kkjk izokg gS &

(A) /kukRed vkos'kksa ds izokg dh fn'kk esa

(B) _.kkRed vkos'kksa ds izokg dh fn'kk esa

(C) QksVksuksa ds izokg dh fn'kk esa

(D) U;wVªkWuksa ds izokg dh fn'kk esa

3. fuEufyf[kr esa ls dkSulk fpâ ifjikVh ds vuqlkj lgh gS &

(A) okLrfod izfrfcac ds fy, izfrfcac dh nwjh /kukRed gSA

(B) mÙky niZ.k ds fy, Qksdl nwjh /kukRed gSA

(C) mYVs izfrfcac ds fy, vko/kZu /kukRed gSA

(D) cM+s izfrfcac ds fy, vko/kZu 1 ls vf/kd gksrk gSA
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4. If a person is sitting in front of two mirrors

attached at 90° to each other, then number
of images produced would be?

(A) 1 (B) 2

(C) 3 (D) 4

5. Total Internal Reflection takes place when
light is incident

(A) From air on a plane glass surface at a
certain given angle

(B) From air on a plane surface at any angle

(C) From the glass placed in water at a certain
given angle

(D) None of the above

6. In a triangular glass prism, the angle at which
all the colors of white light are contained is
called:

(A) Deviation angle (B) Refraction angle

(C) Angle of prism (D) Angular dispersion

7. When the current is passing through the
straight wire then, the associated magnetic
field is

(A) Straight (B) Elliptical
(C) Circular (D) None of these

8. When current flows clockwise in a loop, the
polarity of its face is

(A) East (B) South
(C) West (D) North

9. Which of the following is not biomass?

(A) Sun (B) Rice husk

(C) Wood (D) Cattle dung

10. The condition for producing biogas is

(A) air but not water

(B) water but not air

(C) air and water

(D) neither air nor water

11. If a charged body attracts another body,
the charge on the other body :-

(A) must be negative
(B) must be positive

(C) must be zero
(D) may be negative or positive or zero

12. 1 MeV is equal to :-

(A) 1.6 × 10–19 J

(B) 1.6 × 10–14 J

(C) 1.6 × 10–13 J

(D) 1.6 × 10–13 J

4. ;fn ,d O;fDr nks niZ.kksa tks ,d nwljs ls 90° ij tqMs+ gS]
ds lkeus cSBk gS rc mRiUu izfrfcacksa dh l[;k gksxh ?

(A) 1 (B) 2

(C) 3 (D) 4

5. iw.kZ vkUrfjd ijkorZu gksrk gS tc izdk'k vkifrr gksrk gS&

(A) ,d fn, x, fuf'pr dks.k ij ,d lery dk¡p ds ì"B
ij gok ls

(B) fdlh dks.k ij lery ì"B ij gok ls

(C) ,d fuf'pr dks.k ij ikuh es j[ks dk¡p ls

(D) buesa ls dksbZ ugha

6. ,d f=Hkqtkdkj dk¡p ds fizTe esa og dks.k ftl ij lQsn
izdk'k ds lHkh jax lfEefyr gksrs gS] dgykrk gSA

(A) fopyu dks.k (B) viorZu dks.k

(C) fizTe dk dks.k (D) dks.kh; ifj{ksi.k

7. tc /kkjk lh/ks rkj ls xqtjrh gS rc lfEefyr pqEcdh; {ks=
gS &

(A) ljy (Straight) (B) nh?kZòRrkdkj

(C) òRrkdkj (D) buesa ls dksbZ ugha

8. tc /kkjk ,d ywi esa /kkjk nf{k.kkoZr fn'kk esa cgrh gS rc
blds ì"B dh /kzqork gS &

(A) iwoZ (B) nf{k.k
(C) if'pe (D) mÙkj

9. fuEufyf[kr es ls dkSulk tSo bZ/ku ugha gS \

(A) lw;Z (B) pkoy ds fNyds

(C) ydM+h (D) i'kqvksa dk xkscj

10. ck;ksxSl mRiUu djus ds 'krZ gS &

(A) gok ysfdu ikuh ugha

(B) ikuh ysfdu gok ugh

(C) gok vkSj ikuh

(D) u rks gok vkSj u gh ikuh

11. ;fn ,d vkosf'kr oLrq nwljh oLrq dks vkdf"kZr djrh

gS rc nwljh oLrq ij vkos'k :

(A) _.kkRed gksuk pkfg,

(B) /kukRed gksuk pkfg,

(C) 'kwU; gksuk pkfg,A

(D) _.kkRed ;k /kukRed ;k 'kwU; gks ldrk gSA

12. 1 MeV cjkcj gS :-

(A) 1.6 × 10–19 J

(B) 1.6 × 10–14 J

(C) 1.6 × 10–13 J

(D) 1.6 × 10–13 J
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CHEMISTRY

Comprehension/Passage (Q.13 & 14): Ionization
energy of an element is the minimum amount of
energy required to remove the most loosely held
electron from the outermost shell of an isolated
neutral gaseous atom of the element in its lowest
energy state to produce a cation.

Ionization energy generally increases from left to
right along a period. Ionization energy decreases
from top to botton in a group.

So, group 18 elements have highest ionization energy
and group 1 elements have least ionization energy.
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13. Identity the noble gas:

(A) B (B) B

(C) C (D) D

14. Which of the following elements could D be?

(A) Ne (B) Ca

(C) Na (D) None of these

15. Which are correct match -

(i) Eka silicon – Be

(ii) Eka aluminium – Ga

(iii) Eka mangenese – Tc

(iv) Eka scandium – B

(A) (ii) & (iii) (B) (i), (ii) & (iv)

(C) (i) & (iv) (D) All

16. Universal indicator is:

(A) the indicator that changes its colours
at different hydroxyl ion concentration
(B) the indicator that shows different colours
at different hydrogen ion concentrations

(C) is effective only at low hydrogen ion
concentration

(D) Gives same colour at different pH.

17. Some isotopes are radioactive this is because

(A) the nucleus is unstable

(B) there is imbalance between protons and
electrons

(C) it has radio waves

(D) both (A) and (B)

vuqPNsn@x|ka'k (Q.13 & 14): ,d rRo dh vk;uu ÅtkZ]

fuEure ÅtkZ voLFkk esa ,d /kuk;u mRiUu djus ds fy, ml rRo ds

foyfxr mnklhu xSlh; ijek.kq dh ckáre d{kk ls nqcZy

cfU/kr bysDVªkWu dks eqDr djus ds fy, vko';d U;wure ÅtkZ gksrh gSA

vk;uu ÅtkZ ,d vkorZ esa lkekU;r% ck;sa ls nk;sa tkus ij c<+rh gSA

,d oxZ esa Åij ls uhps tkus ij vk;uu ÅtkZ ?kVrh gSA

vr% oxZ 18 ds rRo mPpre vk;uu ÅtkZ j[krs gS rFkk oxZ 1 ds rRo

U;wure vk;uu ÅtkZ j[krs gSA
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13. mRd"̀V xSl dks igpkfu, &

(A) B (B) B

(C) C (D) D

14. fuEu esa ls dkSulk rRo D gks ldrk gS \

(A) Ne (B) Ca

(C) Na (D) buesa ls dksbZ ugha

15. dkSulk lgh lqesyu gS &

(i) ,dk flfydkWu – Be

(ii) ,dk ,Y;wfefu;e – Ga

(iii) ,dk eSXuht – Tc

(iv) ,dk Lds.Mh;e – B

(A) (ii) & (iii) (B) (i), (ii) & (iv)

(C) (i) & (iv) (D) All

16. O;kid lwpd gksrk gS &

(A) og lwpd tks blds jax dks fofHkUu gkbMªksfDly vk;u

lkUnz.k ij ifjofrZr djrk gSA

(B) og lwpd tks fofHkUu gkbMªkstu vk;u lkUnz.k ij

fofHkUu jax n'kkZrk gSA

(C) dsoy fuEu gkbMªkstu vk;u lkUnz.k izHkkoh gksrk gSA

(D) fofHkUu pH ij leku jax nsrk gSA

17. dqN leLFkkfud jsfM;ksa,fDVo gksrs gS A D;kasfd &

(A) ukfHkd vLFkk;h gksrk gSA

(B) izksVksuksa rFkk bysDVªkWuksa ds e/; vlarqyu gksrk gSA

(C) ;g jsfM;ksa rjaxs j[krs gSA

(D) (A) vkSj (B) nksuksa
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18. Which of the following is an identification test

for unsaturation in an organic compound?

(A) addition of hydrogen

(B) addition of ozone

(C) addition of bromine

(D) addition of oxygen

19. Modern periodic table is based on atomic
number. Experiment which proved importance
of atomic number was -

(A) Braggs work on X-ray diffraction

(B) Moseleys work on X-ray spectrum

(C) Mulliken’s oil drop experiment

(D)  Lother meyer curve plotted between at
vol. & at wt.

20. During electrolytic refining, the metal gets:

(A) deposited on cathode

(B) deposited on anode

(C) deposited on cathode as well as anode

(D) remains in the solution

21. Which of the fol lowing cannot be
concentrated by froth floatation process?

(A) Zinc blende (B) Copper pyrites

(C) Iron pyrites (D) Limonite

22. During a chemical reaction, atomic number:

(A) changes

(B) remains same

(C) changes and then is restored

(D) change alternatively

23. Which of the following metals are obtained
by electrolysis of their chlorides in molten
state?

(i) Na (ii) Ca (iii) Fe (iv) Cu

(A) (i) and (iv) (B) (iii) and (iv)

(C) (i) and (iii) (D) (i) and (ii)

24. The IUPAC name of the following compound
is

H C – H C– C3 2  C – CH – CH  – CH 2 3

CH3

(A) 2-ethyl-3-hexyne

(B) 3-methyl-4-heptyne

(C) 5-methyl-3-heptyne

(D) 5-ethyl-3-hexyne

18. fuEufyf[kr esa ls dkSulk ,d dkcZu ;kSfxd esa vlkarj.k ds

fy, igpku ifj{k.k gS\

(A) gkbMªkstu dk ;kstu

(B) vkstksu dk ;kstu

(C) czksehu dk ;kstu

(D) vkWDlhtu dk ;kstu

19. vk/kqfud vkorZ lkj.kh ijek.kq Øekad ij vk/kkfjr gSA iz;ksx

tks ijek.kq Øekadks ds egRo dks fl) djrk gSA

(A) X-fdj.k foorZu ij czsXl dk dk;Z

(B) X-fdj.k LisDVªe ij ekstys dk dk;Z

(C) eqfydu dk rsy dh cwUn dk iz;ksx

(D)  vk;ru rFkk Hkkj ds e/; [khapk x;k yksFkj es;j oØ

20. oS|qr vi?kVuh; ifj'kks/ku ds nkSjku /kkrq,¡ %

(A) dsFkksM ij tek gksrh gS

(B) ,uksM ij tek gksrh gS

(C) dsFkksM rFkk ,uksM nksuksa ij tek gksrh gS

(D) foy;u esa jg tkrh gS

21. fuEu esa ls dkSulk >kx Iyou fof/k }kjk lkafnzr ugha fd;k

tk ldrk\

(A) ftax CysaM (B) dkWij ik;jkbV

(C) vk;ju ik;jkbV (D) fyeksukbV

22. ,d jklk;fud vfHkfØ;k ds nkSjku] ijek.kq Øekad %

(A) ifjofrZr gksrk gS

(B) leku jgrk gS

(C) ifjofrZr gksrk gS rFkk fQj ogh gks tkrk gS

(D) ,dkarfjr :i ls ifjofrZr gksrk gS

23. fuEu esa ls dkSulh /kkrq, mudh laxfyr voLFkk esa muds

DyksjkbMks ds oS|qr vi?kVu }kjk izkIr dh tkrh gS\

(i) Na (ii) Ca (iii) Fe (iv) Cu

(A) (i) rFkk (iv) (B) (iii) rFkk (iv)

(C) (i) rFkk (iii) (D) (i) rFkk (ii)

24. fuEu ;kSfxd dk IUPAC uke gS&

H C – H C– C3 2  C – CH – CH  – CH 2 3

CH3

(A) 2-,fFky-3-gsDlkbu

(B) 3-esfFky-4-gsIVkbu

(C) 5-esfFky-3-gsIVkbu

(D) 5-,fFky-3-gsDlkbu
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MATHEMATICS

Comprehension/Passage (Q.25 & 26):
A square is inscribed in a circle then another square
is inscribed in the square. Another square is then
inscribed in the circle. Finally a circle is inscribed in
the inner-most square. Thus ther are 3 circles are 2
squares as shown in the figure. The radius of the
outer-most circle is R.

25. What is the radius of the inner-most circle ?

(A) 
R
2

(B) 
R

2

(C) 2R (D) None of these

26. What is the sum of areas of all the squares
shown in the figure ?

(A) 23 2R (B) 3

(C) 
23

R
2

(D) 3R2

27. What is the least possible number which when
divided by 24, 32 or 42 in each case it leaves
the remainder 5 ?
(A) 677 (B) 557
(C) 777 (D) None of these

28. Let a, b be the zeros of the polynomial

x2 – px + r and ,2
2


  be the zeros of x2 – qx + r..

Then the value of r is

(A) 
2

(p – q)(2q– p)
9

(B) 
2

(q– p)(2p – q)
9

(C) 
2

(q– 2p)(2q– p)
9

(D) 
2

(2p – q)(2q– p)
9

29. Solve :
x 3x – 2 5x – 3

– ,x R
5 5 5
 

(A) (2/9, ¥) (B) (–¥, 2/9)
(C) (2/9, ¥) (D) (–¥, 2/9)

30. 20th term of the series:
3 3 3 3 3 31 1 2 1 2 3

...
1 1 3 1 3 5

  
  

  
 is:

(A) 
443
2

(B) 
445
2

(C) 
439
2

(D) 
441
4

vuqPNsn@x|ka'k (Q.25 & 26):
,d oxZ ,d òÙk esa vUrZfufgr gS] rc vU; oxZ ,d oxZ esa vUrZfufgr
gSA vU; oxZ rc ,d òÙk esa vUrZfufgr gSA vUrr% ,d òÙk vUr% oxZ
esa vUrZfufgr gSA bl izdkj ;gk¡ 3 òÙk rFkk 2 oxZ gS tSlk fd fp=
esa fn[kk;k x;k gSA ckg~; òÙk dh f=T;k  R gSA

25. vUr% òÙk dh f=T;k D;k gksxhA

(A) 
R
2

(B) 
R

2

(C) 2R (D) buesa ls dksbZ ugha

26. fp= esa fn[kk, x, lHkh oxksZ esa {ks=Qyks dk ;ksx D;k gksxkA

(A) 23 2R (B) 3

(C) 
23

R
2

(D) 3R2

27. U;wure laHko la[;k tks izR;sd fLFkfr esa 24, 32 ;k 42
}kjk foHkftr gksus ij 'ks"kQy 5 NksMrh gS] D;ks gksxhA
(A) 677 (B) 557
(C) 777 (D) buesa ls dksbZ ugha

28. ekuk a, b cgqin x2 – px + r esa 'kwU; gS rFkk ,2
2


  cgqin

x2 – qx + r ds 'kwU; gS] rc r dk eku gksxk&

(A) 
2

(p – q)(2q– p)
9

(B) 
2

(q– p)(2p – q)
9

(C) 
2

(q– 2p)(2q– p)
9

(D) 
2

(2p – q)(2q– p)
9

29.
x 3x – 2 5x – 3

– ,x R
5 5 5
   dks gy dhft,A

(A) (2/9, ¥) (B) (–¥, 2/9)
(C) (2/9, ¥) (D) (–¥, 2/9)

30. Js.kh%
3 3 3 3 3 31 1 2 1 2 3

...
1 1 3 1 3 5

  
  

  
 dks 20ok¡ in

gksxkA

(A) 
443
2

(B) 
445
2

(C) 
439
2

(D) 
441
4
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31. The bisector of the exterior ÐA of DABC

intersects the side BC produced to D. Here
CF is parallel to AD.

F

A

B C D
E

M

x
x

z
y

(A) 
AB CD
AC BD

 (B) 
AB BC
AC CD



(C) 
AB BD
AC CD

 (D) None of these

32. If a, b, g are the real roots of the equation
x3 – 3px2 + 3qx – 1 = 0; then the centroid of

the triangle with vertices 
1 1

, , ,
         

and

1
,

 
  

 is at the point:

(A) (p/3, q/3) (B) (p + q, p – q)
(C) (3p, 3q) (D) (p, q)

33. If Tn = sinn q + cosn q, then
3 5

1

T – T
T is equal

to:

(A) 
3 5

7

T – T
T (B) 

9 6

4

T – T
T

(C) 
5 7

3

T – T
T (D) 

6 9

4

T – T
T

34. In the given figure, PAQ is the tangent, BC is
the diameter of the circle, m ÐBAQ = 60°,
find m ÐABC:

60°

O

B

C

QP
A

(A) 25° (B) 45°
(C) 60° (D) 30°

35. The probability that kumar will hit a target is

given as 
1
5

. then, his probability fo atleast

one hit in 10 shots is:

(A) 10

1
6

(B) 
10

4
1

5
   
 

(C) 10

1
1

5
 (D) 19

1
1

5


36. The sum of all the real roots of the equation
2

x 2 x 2 2 0      is:

(A) 2 (B) 4
(C) 3 (D) None of these

31. DABC dk ckg; Hkkx ÐA dk f}Hkktd Hkqtk BC dks izfrPNsfnr
djds D cukrk gSA ;gk¡ CF, AD ds lekUrj gSA

F

A

B C D
E

M

x
x

z
y

(A) 
AB CD
AC BD

 (B) 
AB BC
AC CD



(C) 
AB BD
AC CD

 (D) buesa ls dksbZ ugha

32. ;fn a, b, g lehdj.k x3 – 3px2 + 3qx – 1 = 0 dks
okLrfod ewy gS] rc f=Hkqt dk dsUnzd ftldh 'kh"kZ

1 1
, , ,

         
 rFkk 

1
,

 
  

 gS] fuEu fcUnq ij gksaxs&

(A) (p/3, q/3) (B) (p + q, p – q)
(C) (3p, 3q) (D) (p, q)

33. ;fn Tn = sinn q + cosn q, rc
3 5

1

T – T
T  esa cjkcj

gksxk&

(A) 
3 5

7

T – T
T (B) 

9 6

4

T – T
T

(C) 
5 7

3

T – T
T (D) 

6 9

4

T – T
T

34. n x;h vkdf̀r esa, PAQ Li'kZ js[kk gS] BC òÙk dk O;kl gS]
m ÐBAQ = 60° gS] m ÐABC Kkr dhft,A

60°

O

B

C

QP
A

(A) 25° (B) 45°
(C) 60° (D) 30°

35. dqekj }kjk y{; dks lk/kus dh izkf;Drk
1
5

 nh x;h gS] rc

mldh 10 fu'kkus esa de ls de ,d fu'kkus ds fy,
izkf;drk D;k gksxhA

(A) 10

1
6

(B) 
10

4
1

5
   
 

(C) 10

1
1

5
 (D) 19

1
1

5


36. lehdj.k 2
x 2 x 2 2 0      dks lHkh okLrfod

ewyks dk ;ksx gksxk&
(A) 2 (B) 4
(C) 3 (D) buesa ls dksbZ ugha
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BIOLOGY

Comprehension/Passage (Q.25 to 26):
The hard, outer covering of a tooth is called
Enamel. Tooth enamel is the hardest material
in our body. It is even harder than bones. The part
of tooth below enamel is called dentine. Dentine is
similar to bone. Inside the dentine is pulp cavity.
The pulp cavity contains nerves and blood vessels.
The formation of small cavities (or holes) in the
teeth due to the action of acid-forming bacteria
and improper dental care is called dental caries.
When we eat sugary food, the bacteria in our mouth
act on sugar to produce acids. These acids first
dissolve the calcium salts from the tooth enamel
and then from dentine forming small cavities (or
holes) in the tooth over a period of time. The
formation of cavities reduces the distance between
the outside of the tooth and the pulp cavity which
contains nerves and blood vessels. The acids
produced by bacteria irritate the nerve endings inside
the tooth and cause toothache. If the cavities
caused by dental decay are not cleaned and filled
by a dentist, the bacteria will get into the pulp cavity
of tooth causing inflammation and infection leading
to severe pain.
25. The hardest substance in human body is:

(A) Enamel (B) Bone
(C) Cartilage (D) Ligament

26. Sugar content in the teeth can cause:
(A) Plaque (B) Dental caries
(C) Inflammation (D) All

27. Cut leaves remain green for longer time when
dip in
(A) cytokinin (B) ethylene
(C) gibberellin (D) auxin

28. Abscisic acid controls :
(A) shoot elongation
(B) cell elongation and cell wall formation
(C) cell division
(D) leaf fall and dormancy

29. Mitral valve in mammals guards the opening
between :
(A) Right atrium and right ventricle
(B) Left atrium and left ventricle
(C) Right atrium and left ventricle
(D) Left atrium and right ventricle

30. The instrument used to measure transpiration
is :
(A) Barometer (B) Porometer
(C) Thermometer (D) Potometer

vuqPNsn@x|ka'k  (Q.25 to 26):

nk¡r dk ckgjh Bksl dop busey dgykrk gSA busey gekjs

'kjhj dk lcls dBksj inkFkZ gSA ;g gìh;ksa ls Hkh T;knk dBksj

gksrk gSA busey ls uhps dk Hkkx narh dgykrk gSA narh gìh;ksa dh rjg

gksrk gSA narh ds vUnj yqxnh xqgk gksrk gSA yqxnh xqgk esa raf=dk,¡ rFkk

jDr okfgdk,¡ gksrh gSA nk¡rksa dh vuqfpr ns[kHkky rFkk cSDVhfj;k ds

vEy ls nk¡rks esa NksVs&NksVs fNnz cu tkrs gS] ftls nar {k; dgrs gSA

tc ge ehBk [kkuk [kkrs gS rks eq¡g esa mifLFkr cSDVhfj;k] 'kDdj ls

vEy cukrs gSA ;s vEy igys rks nk¡rks ds busey ls dsfY'k;e vEy

dks ?kksydj vyx dj nsrs gS] fQj nk¡rksa esa ,d le; ds nkSjku NksVs

fNnz cukrsa gSA fNnzksa dk fuekZ.k nk¡r vkSj yqxnh xqgk ds chp dh nwjh

dks de djrk gS ftlesa raf=dkvksa vkSj jä okfgdkvksa gksrh gSA

csfDVfj;k ds }kjk cuk;k x;k vEy ] nk¡rksa ds vUnj raf=dk dks mÙksftr

djrk gS ftlls nk¡rks esa nnZ gksrk gSA nar {k; ds }kjk cus fNnzksa dks

;fn nar fpfdRld }kjk lkQ ;k Hkjk ugha tk, rks csfDVfj;k nk¡rksa ds

yqxnh xqgk esa igq¡pdj lwtu rFkk laØe.k cukrk gS tks nnZ dk dkj.k

gksrk gSA

25. ekuo 'kjhj dk lcls dBksj inkFkZ gS &

(A) bZusey (B) gìh

(C) mikfLFk (D) vfLFk&ca/ku

26. nk¡rks esa ehBs inkFkZ ds dkj.k gksrk gS &

(A) nk¡rksa esa eSy (B) nar {k;

(C) lwtu (D) lHkh

27. dVh ifÙk;k gfj jgrh gS ;fn mUgsa Mqcksdj j[kk tk, &

(A) lkbVksdkbfuu esa (B) bFkkbfyu esa

(C) ftfczfyu esa (D) vkWfDlu esa

28. vfClfld ,flM dkcw djrk gS &

(A) Vguh dk c<+uk

(B) dksf'kdk dk c<+uk rFkk dksf'kdk f>Yyh dk fuekZ.k

(C) dksf'kdk foHkktu

(D) iÙrs dk fxjuk rFkk fuf"Ø;rk

29. LFku/kkfj;ksa esa feV~jy okYo fdlds e/; ik;k tkrk gS\

(A) nk;ka vkfyan rFkk nk;ka fuy;

(B) ck;ka vkfyan rFkk ck;ka fuy;

(C) nk;ka vkfyan rFkk ck;ka fuy;

(D) ck;ka vkfyan rFkk nk;ka fuy;

30. izLosnu dks ekius esa iz;ksx fd;k tkus okyk midj.k &

(A) csjksehVj (B) iksjksehVj

(C) FkeksZehVj (D) iksVksehVj
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31. Diameter of the renal afferent vessel is :-

(A) Same as that of efferent

(B) Smaller than that of efferent

(C) Larger than that of efferent

(D) There is no efferent vessel

32. What will happen if one kidney is removed

from the body of a human being ?

(A) Death due to poisoning

(B) Uremia and death

(C) Stoppage of urination

(D) Nothing, the person will survive and remain

normal kidney will become hypertrophied

33. Alleles of a gene are found on :-

(A) same chromosome

(B) any chromosomes

(C) homologous chromosomes

(D) nonhomologous chromosomes

34. What was Mendel 's most important

contribution to the modern understanding of

biology :-

(A) The concept of meiosis

(B) The concept of chromosome

(C) The concept that genes are ordered along

chromosomes

(D) The concept that hereditary information

comes in discrete units

35. The group of sepals is called :-

(A) gynoecium

(B) calyx

(C) corolla

(D) androecium

36. Air pollution is maximum caused by :

(A) household detergents and pesticides

(B) automobile exhausts and chemicals from

industries

(C) sewage and pesticides

(D) sewage and industrial effluents.

31. xqjns dh vfHkokgh ufydk dk O;kl gksrk gS&

(A) viokgh ufydk ds leku

(B) viokgh ufydk ls de

(C) viokgh ufydk ls T;knk

(D) ;gk¡ dksbZ viokgh ufydk ugha gksrh gSA

32. D;k gksxk ;fn ,d ekuo 'kjhj ls ,d xqjnk fudky fn;k

tk, \

(A) tgj QSyus ls eR̀;q

(B) ;wjhfe;k rFkk eR̀;q

(C) ew= dk :dko

(D) dqN ugha] ekuo thfor rFkk lkekU; jgsxk rFkk xqjnk

dk vkdkj c<++ tk,xk

33. thu esa ,fyy dgk ik;s tkrs gS &

(A) mlh xq.klw= esa

(B) fdlh Hkh xq.klw=

(C) ltkrh; xq.klw=

(D) vltkrh; xq.klw=

34. thofoKku dh vk/kqfud le> ds fy, es.My dk lcls

egRoiw.kZ ;ksxnku D;k Fkk \

(A) v)Zlw=hfoHkktu dh vo/kkj.kk

(B) xq.klw= dh vo/kkj.k

(C) thu dh xq.klw= ds lkFk Øec) dh vo/kkj.k

(D) vo/kkj.kkvksa dh vkuqoaf'kd tkudkjh vlrr bdkb;ksa esa

vkrh gSA

35. ckányksa dk lewg dgykrk gS &

(A) tk;kax (B) iq"idks'k

(C) nyiqat (D) iqadks"k

36. ok;q iznq"k.k vf/kdrj gksrk gS &

(A) ?kjsyq viektZdksa rFkk dhVuk'kdksa }kjk

(B) okguksa ds /kq,¡ rFkk m|ksxksa ds jklk;ud ls

(C) xans ukys rFkk dhVuk'kdks ls

(D) xans ukys rFkk m|ksxksa ds vif'k"Vksa ls
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MENTAL ABILITY

37. Which number will come in place of "?"

3 5
39

36

4 7
51

45

3 5
?

45

(A) 35 (B) 37

(C) 45 (D) 47

38. If in a code language CIRCLE is coded as
XRIOXV, how would you code SQUARE in
the same language ?
(A) HJFZIV (B) HJFZIX
(C) HJFZLX (D) HJFZVI

39. How many squares does the figure have ?

(A) 17   (B) 12 (C) 13 (D) 15
Direction :
Select a figure from the alternatives which when
placed in the blank space of (X) would complete
the pattern ?

40.

(X) (A) (B) (C) (D)

?

37. "?" ds LFkku i j  dkSul h l a[ ; k vk, xh\

3 5
39

36

4 7
51

45

3 5
?

45

(A) 35 (B) 37
(C) 45 (D) 47

38. ; fn , d l kadsfr d (code) Hkk"kk essa CIRCLE dk dksM

gS XRIOXV, bl h Hkk"kk esa vki  fdl  i zdkj  SQUARE

dk dksM fy [ ksxsa \

(A) HJFZIV (B) HJFZIX

(C) HJFZLX (D) HJFZVI

39. fuEu fp=k esa fdr us oxZ gS\

(A) 17 (B) 12 (C) 13 (D) 15

funsZ' k :

fuEu fodYi ksa esa l s , d  fp=k dk pquko dhft ,  ft l s (X) esa

[ kkyh LFkku i j  j [ kus l s Øe l ai w.kZ gks t ks, A

40.

(X) (A) (B) (C) (D)

?

GENERAL KNOWLEDGE

37. Which of the following contains lycopene
pigment?

(A) Bitter gourd (B) Water melon

(C) Pumpkin (D) Spinach

38. Which of the following scienteist invented
pi-mesons?

(A) Hideki Yukawa (B) Robert William
(C) Heinsberg (D) Robert Hill

39. Agar-agar is extracted from:

(A) Gracillaria (B) Pythium

(C) Agaricus (D) Chara

40. Which of the following organism shows
Bioluminescence:

(A) Limulus (B) Peripatus

(C) Pheretima (D) Noctiluca

37. fuEu esa l s fd l esa ykbdksi hu uked j axhu i nkFkZ i k; k

t kr k gSa\

(A) d j syk (B) r j cwt

(C) dn~nq (D) i kyd

38. fuEu esa l s fd l us i kbZ&fet +ksu dh [ kkst  dhA

(A) fgMsdh ; qdkok (B) j kscVZ fofy ; e

(C) fgUl cxZ (D) j kscVZ fgy

39. vxj &vxj  fuEu esa l s fd l esa l s i zkIr  gksr k gSa&

(A) xzsl hysfj ; k (B) i kbZfFk; e

(C) vxsfj d l (D) dkj k

40. fuEu esa l s fd l  t ho esa t So l anhfIr  i kbZ t kr h gSaA

(A) fye; qy l (B) i sj hi sVl

(C) Qsj hVhek (D) uksdVhY; qdk
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ROUGH WORK
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